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Q.No: 1  Where is the highest hockey ground in India?

2427535
HRA H g G giat 1 HeH @el W 37
Gangtok
A
TRe
Silaru
B
Rreme
Jammu and Kashmir
C
SR PR
Leh
D
e

Correct Ans : B

Subject : General Knowledge

Q.No: 2 Select the wrong statement regarding BRICS.

2427574
forer @ Gy § TTerdT Y T T BRI
2021 BRICS summit was the 13th annual BRICS summit
A
2021 T3 RReX T 1381 afies T RreR wwter or
2021 BRICS summit was hosted by Russia
B
2021 T RRER T T4 GRI SHfor fopar T ot
The 2021 summit was hosted virtually by video conference.
C
2021 % R T BT ASIEF TG diSal PrpY gRI 1 18 A1
Its headquarters is in Shanghai, China
D

T e Sars, HH i ¥
Correct Ans : B

Subject : General Knowledge

Q.No: 3 Siraj ud-Daulah became the Nawab of Bengal after the death of-
2427971

RRIGET fF99) 9 F 918 TG $7 919 &1

Alivardi Khan

A

Sfciiadf @M

Mir Qasim
B

R F1RH

Shahbaz ahmed khan
C

Medm 3gHg T
D Mir Jafar

MPPEB 2022

PCRT-Reports

View Candidate Question

Submit



R TR
Correct Ans : A

Subject : General Knowledge

Q.No: 4 India can import which of the following from the developed countries to improve the country’s economy?
2428901

URT & B srferaw H guR ¥ fore faswsfa &xit § fafafea § § frues smad #R 9@ 82

Latest technology

A
T dHNS
Capital goods
B
Feinckieic]
Infrastructure
C
PPRGFER
Drainage system
D

7 Rrew
Correct Ans : A

Subject : General Knowledge

Q.No: 5 Which female wrestler has become the first female player to win a silver medal in the World Wrestling Championship-2021?
2430535

fay TR AREART-2021 § FH B AR IR 9 UeH Sia- el ggel A Riaret 57 =i 2|

Sarita Singh
A

i g

Anshu Malik
B

g At

Vinesh Phogat
c

& wime

Babita Phogat
D

i wrme

Correct Ans : B

Subject : General Knowledge

Q.No: 6  Who among the following established ‘Mayo College’ in Ajmer in1872?

2435718
Frfied & 4 e 1872 § stk # Al Pl B WG B1?
Lord Mayo
A
@
Lord Dufferin
B
g swia
Lord Lawrence
C
g Ak
Lord Ripon
D
@S feom

Correct Ans : A

Subject : General Knowledge



Q.No: 7  In which ocean is the world's largest island located?

2435824
fay o1 T F91 0 e HerTR H fRya 82
Antarctic Ocean
A
JeThIeH HRRNR
Arctic Ocean
B
Thfe® TEranR
Pacific Ocean
C
YRIT HETARR
Indian Ocean
D

forg TEETR
Correct Ans : B

Subject : General Knowledge

Q.No: 8  What sport Aditya Joshi is associated with?

2440908
ST S e Qe @ 9 87
Hockey
A
Byl
Cricket
B
frde
Badminton
(o
efiea
Swimming
D
GGl

Correct Ans : C

Subject : General Knowledge

Q.No: 9 Mian Tansen was among the Navaratanas at the court of -

2441050
forat R forge oXeR 3 TawaHl 9 § 42
Shah Jahan
A
TR
Akbar
B
SR
Jehangir
C
weifiR
Humayun
D
T,

Correct Ans : B

Subject : General Knowledge

Q.No: 10 Who was the Governor of Malwa and subsequently became the King of Malwa in 1401 AD?
2441135

Tl & TSI BIF & 3R 918 H 1401 §. F ATwar F Ao 92



A Mahmud Khan

Heqe 9H
Hoshang Shah

BT AR

Dilawar Khan Ghuri

R @m0

Ghazni Khan

TR @H

Correct Ans : C

Subject : General Knowledge

Q.No: 11 The Nau Toran Temple is dedicated to which deity?
2441237

= R R 5 Saar - wmitd §2

Vishnu

o

Durga

Shiva

Rama

A
Correct Ans : C

Subject : General Knowledge

Q.No: 12 In which year did the INVEST Portal become operational?
2441526

T i g o e gene
2005

2005
2012

2012
2015

2015
2018

2018
Correct Ans : D

Subject : General Knowledge

Q.No: 13 Who is the author of the book “Seonee, or Camp Life in the Satpura”?
2441557

Ry, 3R $T TEE 37 T TGS WP H AEH P §?
R. A. Sterndale

IR T EAS
B Rudyard Kipling



TS Tt

James Forsythe

S BIRTY

Dunbar Brender

TR SR
Correct Ans : A

Subject : General Knowledge

Q.No: 14 Who among the following became the first Chief Justice of Madhya Pradesh High Court?
2441694

Frofafea & 9 $F A Yo S I & IR 8T AR a7
M. Hidayatullah

A
. feeragwme
Ganesh Prasad Bhutt
B
O TG 4T
P.V. Dixit
C
.. ffaa
Narayan Dutt Ojha
D

AR & SN
Correct Ans : A

Subject : General Knowledge

Q.No: 15 Who became the First Chief Justice of the Nagpur High Court?

2441726
ARTR S AT & Ugel T e S a9?
Gilbert Stone
A
frese €
Frederick Louis Grille
B
e & e
Bhuvaneshwar Prasad Sinha
C
IR T Rt
M. Hidayatullah
D

T fReragee
Correct Ans : A

Subject : General Knowledge

Q.No: 16 Narshinghpur district is the major producer of

2441810
RRITR Rie fepweT T Saesd 82
Orange
A
HeRT
Sugarcane
B
RIF

Cc Banana



Har

Pineapple

ST
Correct Ans : B

Subject : General Knowledge

Q.No: 17 Fiscal deficit of Madhya Pradesh for 2021-22 is targeted at how much crore (4.47% of GSDP).
2441858

¥ 2021-22 F 0 T TR BT IS HieT fan B (Shugeidt &1 4.47%) W attd g1

Rs. 50,598crore

A

3. 50,598 TS

Rs. 1,23,993 crore
B

¥. 1,23,993 TS

Rs. 20,419 crore
C

3. 20,419 TS

Rs. 1 lakh crore
D

3. 1 TG S

Correct Ans : A

Subject : General Knowledge

Q.No: 18 Odishi dance is performed by which of the following communities mostly?
2442347

Sfeen T FrRiEa # 3 e by e grR1 e s 82

Maheri
A

R

Nai
B

R

Washermen
c

Uicis

Nomads
D

TR

Correct Ans : A

Subject : General Knowledge

Q.No: 19 Where is the headquarters of the World Bank located?

2442421
Ay S &1 gomay Fe [ 87
United States
A
T T SR
China
B
ol
France
C
gk
Germany
D
S

Correct Ans : A



Subject : General Knowledge

Q.No: 20 Aanand Bhavan is situated in which district of Uttar Pradesh?
2442494

SFE Y SR U & fobw foral F fRum &2

Lucknow

qETS

Kanpur

BAR
Gorakhpur

RER

Prayagraj

TR
Correct Ans : D

Subject : General Knowledge

Q.No: 21 The defect in the insulin secretion can result in which disease?
2423009

YR 1a A G SR BH W I G Gl 87

AIDS
A
=
Heart disease
B
TEIRT
Diabetes
c
AyiE
Cancer
D
FW

Correct Ans : C

Subject : General Science

Q.No: 22 One can save the life of people by donating the blood for four times a year.

2423020
ol o # IR IR YEdeH BRB _ WRil @ S S S el g
Eleven
A
TRE
Twelve
B
9RE
Thirteen
C
T
Fourteen
D
g

Correct Ans : B

Subject : General Science

Q.No: 23 Persons, who come in contact with pigs can contract with which disease?
2423052



3R & GUud H 3 9Tl Al Sl DI Ul dHRT g1 Fehdl 62

Diabetes
A

Ay

Swine flu
B

T W

Rabies
C

Eeic)

Asthma
D

<ar

Correct Ans : B

Subject : General Science

Q.No: 24 Passing through which of the following medium speed of light will be minimum?
2425754

e & 3 5w mem | ToRA R U™ 3 R gAay gt

Water
A

Tt

Air
B

TR

Glass
C

Rl

Vaccum
D

Bl

Correct Ans : C

Subject : General Science

Q.No: 25 Which one the following do not belong to the protozoans?
2428731

FrofifEd & A o Mesien 4 a7 82

amoeba

Lo

paramaecium

iR

euglena

TR

sponges

e
Correct Ans : D

Subject : General Science

Q.No: 26 Match the following:
2428748

1 Reptiles A Platypus

[35]

Aves b Alligators

3 Mammals c Gulls




to
/ﬂ'
[on

1-a, 2-b, 3-c

1-a, 2-b, 3-c
1-b, 2-c, 3-a

1-b, 2-c, 3-a

1-c, 2-b, 3-a

1-c, 2-b, 3-a

1-a, 2-¢, 3-b

1-a, 2-c, 3-b
Correct Ans : B

Subject : General Science

Q.No: 27 Check the odd one out:

2428785
fawm 3 sifg #x:
unicellular eukaryotes
A
TR GHRATH
unicellular fungi
B
OIRGY HdIB
unicellular algae
c
TEHIRIPE A
multicellular animals
D

TERIRIBI TR
Correct Ans : D

Subject : General Science

Q.No: 28 Check the odd one out:

2428789

foww &t sifg &

They lack locomotory organ
A

IS U TG T B FH R

All are parasites
B

i ool §

Plasmodium and monocystis
c

wiea R AR

bread mold
D

S A

Correct Ans : D

Subject : General Science

Q.No: 29 Which one of the following is not the main source of water?

2429029




Frofafea & § $ oa 31 77 Ik T2 82

Rain water

A
auf ST U
Surface water
B
T o
Sea water
C
THF BT U
Tube well water
D

ST BT UHE
Correct Ans : D

Subject : General Science

Q.No: 30 Which factor is responsible for influencing wind direction and speed, temperature, air pressure, clouds etc.?

2429265
Tar 3 famn ofR T, AToEF, agers, Sed offe 1 uifad w4 & R 9 W FRe SER 87
Chemical factors
A
ARG SRS
Environment factors
B
TieRY FREH
Physical factors
C
Ricckarcy
Climatic factors
D

QA PRD
Correct Ans : D

Subject : General Science

Q.No: 31 The binomial nomenclature consists of

2429858
fu e § i §
genus and species
A
W SR vt
family and genus
B
RER SR S
species and kingdom
c
wonfear e s
kingdom and species
D

T SR weeat
Correct Ans : A

Subject : General Science

Q.No: 32 Directions: The following question consists of two statements one labeled as “Assertion” and the other as “Reason”. You have to examine these two statements carefully and s
2429869 question from the given options.

Assertion : (A) Ron encountered an animal in the pond that had an elongated body and eel-like.

Reason: (R) the fish witnessed belonged to class cyclostomata.

e Ffofad wy § < Fu € i 3 oo 3 aifiiET iR g F "SRU" & w0 B Aq@ a1 T 21 st 37 G Sl B gauHIgds o St § o A e fawed! § 9 uy &1 96 W



SUEBY: () TS W A BT GHFT T SR § §ail, [9rebT TR Tl SR 3 ST Tl
PR (3AR) 2 TS Tl o7f Tgaeder 1 &

#
A (R) is true but (A) is false.
(R) T § Afd (A) T 31
(A) is true but (R) is false
B
(A) 9 § A (R) T @
(A) is false.
C
(A) T B
(R) is the correct reason for (A)
D

(R) (A) & fr Wt BR0T ¢
Correct Ans : D

Subject : General Science

Q.No: 33 Directions: The following question consists of two statements one labeled as “Assertion” and the other as "Reason”. You have to examine these two statements carefully and s
2430048 qyestion from the given options.

Assertion (A): Yoghurt made from milk.

Reason(R): Conversion of milk into yoghurt is brought about by the bacteria Lactobacilli.

A Fefofed vy & < w5 § B @ T 3 aifireeTt ok g @ "GRUM F w0 B A9q 51 T B SBT3 G Hl B GadHIgdE o S 7 SR I MU fawedt & § uy o1 9 W
S (A) : gU T Tl
PR (R) : Y BT gt H uRad" daiRar deciafiedt gr far o 31

Both A and R are true

A

ASRRITIGT

Both A and R are false
B

A R R il o &

A is true but R is false.
C

A ¥ § A5 R S B

A is false but R is true.
D

A 39 ¢ AT R I B
Correct Ans : A

Subject : General Science

Q.No: 34 are known as bioplastics.
2430128
IS F 9 7 S S 3
Disposable utensils
A
fewioa
Compostable utensils
B
G & i
Synthetic wool
c
Ridfes &7
Cotton
D
DU

Correct Ans : A

Subject : General Science



Q.No: 35 Name the type of fibre that is naturally obtained from a cocoon?
2430135

I UBR & R T TH FA3Y ST UPas 9 § HIH ° U gir 82

Polythene
A

L]

Polymer
B

wga®

Silk
C

Kot

Terycot
D

e

Correct Ans : C

Subject : General Science

Q.No: 36 Find the wrong term in the series?

2422596
0,1,4,9, 16, 25, 31, 49
Gl H TIed HH BT U T2
0,1,4,09, 16, 25, 31, 49
25

A
25
31

B
31
9

C
9
4

D
4

Correct Ans : B

Subject : General Reasoning

Q.No: 37 Find the odd word out.

2424544

SR Lok I 4 BHIY

Mercury
A

]

Bromine
B

Eiuic]

Sodium
C

wfsgw

Titanium
D

ergefam

Correct Ans : B



Subject : General Reasoning

Q.No: 38 Find the number of triangle in the given figure.

2425655
= angfa & iy 3 g I Fif
10
A
10
13
B
13
11
c
11
12
D
12

Correct Ans : C

Subject : General Reasoning

Q.No: 39  Select the letter-cluster that is related to the third letter-cluster in the same way as the second letter-cluster is related to the first letter-cluster.
2426302

WRITE : JEVGR :: WRONG : ?

I HER-TUE BT 94T Y ol TG S{eR-UE § IU THR Hafid § o O SfeR-9wE, Ud SiaR-Tgg § el §

WRITE : JEVGR :: WRONG : ?

JEBAT
A

JEBAT

JECAT
B

JECAT

JEDAT
C

JEDAT

JEDAD
D

JEDAD

Correct Ans : A

Subject : General Reasoning

Q.No: 40 Khan travels 8 km from east to west, then turns right and travels 2 km. Again, turns right and travels 5 km. So, in which direction has he finally reached from his starting poin
2426370

T g § Ui faen & 8 fpeiieR @1 am $YaT § I6H 916 QT gAPR 2 Fpaifier @1 A Hal ¢ YT Q¢ GAPR 5 feiricy &1 a7 SRl g1 of: 3fd § 97 o IR fig & e famn F

South-East
A
feyor-od
North-West
B
JR-ufEm
North
Cc



D South

i

Correct Ans : B

Subject : General Reasoning

2‘-1"‘2‘244012 Select the option /number which is related to 3" number in the same way as 22 number is related to a
15t number?
8§:256:10:7?

30 HEAT [AsheT & 997 HL A AET TEAT F 3 YR FEOT § SAH gEd FEAT gl
e ¥ wefea ¥

8:256:10:?

250

250
125
625

3125

3125
Correct Ans : C

Subject : General Reasoning

Q.No: 42 In the given diagram, Circle represents sharp teeth, Triangle represents Animals and Rectangle represents short tail.
2426612

e
(2 N\

Find the total number of Animals who has either sharp teeth or short tail but not both.
T g o #, g ot il @1 UG @=ar g, Rys ST 31 uifRfia S § 9iR omaa et Ug o1 ufafifta s g1
e

Wl TR B por GO 1 T B a1 A JHla i 7 B I A= <A1 T8 &

3
A

3

16
B

16

19
C

19

12
D

12

Correct Ans : B

Subject : General Reasoning

Q.No: 43 Pointing to a lady Govind said, “She is the wife of my sibling”. How is that lady related to Govind?
2429582



T AT DI 3R IURT B gU i< 7 Fgl, "9 TR Fglex Bl Idl g"| 98 Hlge Mg I 1Y UHR Ja1dd g2

Mother
A
iol
Daughter
B
o
Aunt
C
it/
Sister-in-law
D

TG/ SR

Correct Ans : D

Subject : General Reasoning

Q.No: 44 Ppoint B is in the east of Point C at 30m. Point C is in the north of Point D at 25m. Point D is in the west of Point E at 50m. Find the shortest approximate distance between C an
2429668 \ith respect to OPTION B:

fag Bfag C H gd 7 30 Mexr W 31 forg ¢ farg D & I # 25 ek R 21 fig D g E & uftm & 50 fer W R1 € 3R E & 19 3 I B gt 310 &Y 3R B F Jay £ 31w oft 710 H¥2

56m, south-east

A
56 Ty, afRu-gd
60m, south-east
B
60 TR, SRU-gd
65m, south-west
C
65 ey, faur-uidw
70m, south-west
D

70 ¥y, SfRu-uitm
Correct Ans : A

Subject : General Reasoning

Q.No: 45 A particular Analogy is being shown. Understand the logic and complete the analogy by selecting correct option:

2434071
Jeoe a2
U 40T GTged T00aT AT g1 T & G921 S Ael [oed S 749 63 91349 %l 00 &L
e i
A
o O
[ ]
|
)
[e] O
—
B
)
[e] O




@.

Correct Ans : A

Subject : General Reasoning

Q.No: 46 Select the figure that will come next in the following figure series.

X

I MPpfa T T B i ol snpf e # ot s

A
X
X
<
X
X
<
X
7




Correct Ans : C

Subject : General Reasoning

Q.No: 47 Select the letter-cluster that can replace the question mark (?) in the following series.
2434361

IN, LP, NR, PT,RY,?

Frafafea sae & U SieR-9vg o1 997 % ol Uy g (?) 31 URoeiitd $= 9 21

IN, LP, NR, PT, RV, ?

T™W
A

T™W

TX
B

TX

uT
C

uT

uv
D

uv

Correct Ans : B

Subject : General Reasoning

Q.No: 48 1In the following question, select the odd number from the given alternatives.
2435056

FrafaRaa uy ¥ 3 U fawedl & § favm S o1 997 S|

256
A

256

512
B

512

196
C

196

100
D

100

Correct Ans : B

Subject : General Reasoning

Q.No: 49 ' Identify the class that best represents the Venn-diagram.

2435576
(o)

N
39 I Bt UG B S I-3HRW BT GG 33T Hiafifiid Hear g1

&

NS

Copper, wire, aluminum

Units, Watt, Volt

T}, e, e

C Pen, Paper, Book



DH, DTN, TP

Parliament, Speaker, elected members

Tue, ey, Fafe 9w
Correct Ans : D

Subject : General Reasoning

Q.No: 50 Select the odd word/letters/ number from the given alternatives.

2438949

fow e fawedl # 9 fawn rea/sterl/ T S gFul

343
A

343

64
B

64

75
c

75

27
D

27

Correct Ans : C

Subject : General Reasoning

Q.No: 51 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440189 the main statement.

If I dream, I will see my dream home
A.I dreamt

B.I did not dream

C.I saw my dream home

D. I did not see my dream home

U T Uy § T FuA AR IHF 91 IR FUF & | FUT BT BT I T, TeT Ugd FUA F1 de g Y I B, 3R < FA Il FU § g FF T W B
SR T AT @ § o § ST WO 1 O S

A, B O &

BB wo T

C.H7 317 [ T R @M

D. #7307 AT &1 R T @

AC

AC
BA

BA
DA

DA
cD

CcD
Correct Ans : A

Subject : General Reasoning

Q.No: 52 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440252 mjain statement.

If bank increases the interest rate, people will deposit their money.



A. bank increased the interest rate
B. bank did not increase the interest rate
C. people deposited their money

D. people did not deposit their money

o mu gy B g Fo SR IUF 918 TR HUA §| Y B BT G A, 9181 Ugd HYF B I gk U I 7, R & FUF difdd FY ¥ T FUF Y A 7
IR S TS S TGI8, < T SO T S pd

A. ¥ 3 91S &S W

B. ¥% Y =l R # af 7 Bt

C. TN A 3o BT o foram

D. @RIl 7 3o T o A

BD
A

BD

BC
B

BC

DA
C

DA

DB
D

DB

Correct Ans : D

Subject : General Reasoning

Q.No: 53 Given question has main statement followed by four statements. Choose the ordered pair of statements, where the first statement implies the second, and the two statements
2440280 main statement.

If I get good marks, my mother will reward me.

A. I scored good grades
B. My mother rewarded me
C. I did not score good grades

D. My mother did not reward me

U TC Uy A HB U IR ISP 1E IR BT § 1 B BT AT gH I, Tl Ugd U 1 I G HUF ¥ B, 3R &) B AIfdE U § guT w5y J Wi B
I F oy ol T el §, A1 B A g2 W At |

A, B 3 O U g

B. % 7 3 521 e foar
C. 7 o ¥s yredt 7l Y
D. W T A g2 g T e

AB
A

AB

BA
B

BA

DA
C

DA

cD
D

CcD

Correct Ans : A

Subject : General Reasoning

Q.No: 54 Select the related letters from the given alternatives.



2441962

HIJ : OPQ :: STU : ?

o g fapedl @ WafE oierl B R

HIJ : OPQ :: STU : ?

BCD
A

BCD

ZAB
B

ZAB

XYz
C

XYz

CBA
D

CBA

Correct Ans : B

Subject : General Reasoning

Q.No: 55 Find the related word from the given alternatives.
2442003

Salt : Pepper

R U Rl ¥ Haftid wea 1 B

a5 : B

Curd : Milk
@Y
Vegetable : Sugar
el ¢

Bread : Butter

oS : IR

Sugar : Sweet

<t : fireré
Correct Ans : C

Subject : General Reasoning

Q.No: 56 . e, ; &
2422371 Simplify: 1024-[86 - {39 +2(46 - 27)}]

IRT DI 1024 - [86 - {39 +2(36 - 27)}]

800
A

800

890
B

890

150
C

150

996
D

996

Correct Ans : D



Subject : General Maths

Q.No: 57 «: 26 _ _ 24+
2422386 Simplify:36-[72 - {70 - (36-34+17 x 4)}]

XA DI 36 - [72- {70- (36 34+ 17 x 4)}]

6
A

6

7
B

7

10
C

10

12
D

12

Correct Ans : A

Subject : General Maths

Q.No: 58 Find the compound interest on Rs.11500 for one year at the rate of 20% per annum, if the interest is compounded quarterly.

2423608
11500 TG BT 20% Ul 99 &1 <X A T o BT Tehdfer ST 10 BT, A =T RIS 37 1
Rs.5467.9829

A
Rs.5467.9829
Rs.9799.8929

B
Rs.9799.8929
Rs.1034.45321

C
Rs.1034.45321
Rs.2478.32188

D

Rs.2478.32188
Correct Ans : D

Subject : General Maths

Q.No: 59 Dipesh borrowed a sum of Rs.50500 from a finance company to purchase a T.V. If the rate of interest is 5% per annum compounded annually, calculate the compound interest

2423623 company after 3 years.
&I A T Aot W F R U6 BIRAE HU F 50500 FUT AR JUR | | A A B R 5% T W aiffer Al 7, o SU Tqie IS $ AT R Sl IR BT 3 a6 & 915 B B Y
Rs.2870.9410

A
Rs.2870.9410
Rs.2680.3015

B
Rs.2680.3015
Rs.2879.1298

C
Rs.2879.1298
Rs.7960.0625

D

Rs.7960.0625
Correct Ans : D

Subject : General Maths



Q.No: 60 Solve:
2428588

{563 x 7 -404 + 4 +62 x5 -[555+ 5345 + (445 - 63 x 9]}

ERERS
{563 x 7 -404 + 4+ 62 x5-[555 + 5345 + (445 - 63 x 5]}

39.77
A

39.77

40.65
B

40.65

39.66
C

39.66

38.4
D

38.4

Correct Ans : C

Subject : General Maths

Q.No: 61 The average age of X and Y is 33 years. If Z's age is added the average of their ages becomes 31 years. What is the age of Z?
2432573

X SR Y Bl i a1g 33 I ©1 AT Z F g S A WY o ST g T ST 31 a9 B SN ol Z P S 82

24 years
A

24 919

27 years
B

27 9

30 years
c

30 9

33 years
D

33 9

Correct Ans : B

Subject : General Maths

Q.No: 62

2azacoa (243)7° x320+1 R
" EEE.
(243)n/5 % 32n +1 -
973"t
1
A
1
2
B
2
9
c
9
311
D

3n



Correct Ans : C

Subject : General Maths

a?+b?

Q.No: 63 a 2
*then value of av+b2 is equal to

b
2434744 £} + - =

a?+b?

a b_ A
aﬁl:-*-;_z%'?ﬁ_abwzﬂmwwgl

0

4
Correct Ans : B

Subject : General Maths

Q.No: 64 (e, 2
2434774 |X x5
x3+l=79x L
If X . then find the value of x¥*-702x>+ 4
x'+x? _7
X+ L o79xa AL x ) :
gfe * 7% 7R, Al ¥ —702x° + 4] HIF JTd PR
2
3
A
2
3
1
2
B
1
2
3
2
C
3
2
3
D
3

Correct Ans : A

Subject : General Maths

(22;1'\;‘;26159 Whatis the profit percent, when the cost price is 80 % ofthe selling price?

a9 5 4 e &1 80% 3, T A ersId Fi diferg?

A 20%



80 %
B

80 %

30%
C

30%

25%
D

25%

Correct Ans : D

Subject : General Maths

Q-No: 66 A man bought a cow and a bull for Rs. 3000. He sold the cow at a gain of 20% and the Bull at a loss of 10%, thereby gaining 2% on the whole. Find the cost of the cow.
2435239

TH M1 3 U@ T SR TF 34 $i 3000 F99 H G 6 T $T 20% T 3R 36 B 10% I 31 R 91, o I qR 2% ST A g1 T ST AFTd Jed 19 Biord |

2200
A

2200

1800
B

1800

1200
C

1200

1000
D

1000

Correct Ans : C

Subject : General Maths

Q.No: 67 A.T.V. seller sold two T.V. at the rate of Rs. 9,600. Out of them, he obtained 20% profit on one T.V. and 20% loss on another T.V. How much profit or loss percentage is obtaine
2435299

TF e fahar 3 3. 9,600 B &R & < hfae 9| S7H 9 U TehfIoH W 20% a1y 3 GER AT W 20% FH g o 39 Tig § v nfawia ey syat 71 52
10% profit

A
10% Y
4% profit
B
4% Y
4% loss
(o
4%@sﬂ#
No profit no loss
D

T A
Correct Ans : C

Subject : General Maths

Q.No: 68 Which of the following is a proper fraction

2437477
fufafea # 9 o1 W v sfa e 3?2
4
3
A
4
3



lw

3
1
st
4
C
[l
3
4
D
3
4

Correct Ans : D

Subject : General Maths

Q.No: 69 Find the smallest fraction?
2437497

e Biel fid J1d pifoe?

2o

500
10000

500
10000

Correct Ans : C

Subject : General Maths

2'4'\;07:57507 Prakash speudg of his income on rent and half of remainder on transport. He saves the remaining
amount. What fraction ofincome does he save?
TIEBTI A ST ST 12 T R TR SR 2 BT A1efT IR R 9 bl | S 9 iyt
EEREA NI E L PG E R NI CER G Y
L)
9
A
1
9
9
B
9
C

O |



N

o ln

5
9
Correct Ans : B

Subject : General Maths

Q.No: 71 If in a symbolic language ‘RUNNER' is written ‘SUMMER’ then ‘WINTER’ will be written in the same language as?
2422546

g fpdt gichfad o1 & 'RUNNER' &1 'SUMMMER' for@T ¢ ¢ 'WINTER' &I 3%t Te1 # feran simerm fored?

XIMSER
A

XIMSER

VINTER
B

VINTER

SINVEER
C

SINVEER

VIOUER
D

VIOUER

Correct Ans : A

Subject : Mental Ability

Q.No: 72 If in a symbolic language ‘SAND’ is written ‘"VDQG’ and ‘BIRD’ is written ‘ELUG’ then ‘LOVE’ will be written in the same language as?
2422576

I fopedt Aiehfass Hmor & 'SAND' &1 'VDQG' ferar ST § iR 'BIRD' Y 'ELUG! firan Siram § o 'LOVE' &1 It urn & forn wmomm forady?

PRYG
A

PRYG

QRTG
B

QRTG

NPUH
o

NPUH

ORYH
D

ORYH

Correct Ans : D

Subject : Mental Ability

Q.No: 73 T a row, Shraddha is 16% from left end and 19th from right end. Then find the total number of

2425594 tudents in the given row?
T Ui 3 oig 1 OR A 169 IR 2@ BR A 1991 81 < g dfeky 7 fenffdl Y pa v @ P
34
A
34
35
B
35
36
o

36

27



37
Correct Ans : B
Subject : Mental Ability

Q.No: 74 Identify the set for the number 421665.

2426512

T 421665 & {07 TE T Bl TgaH Bl

AQRBBG
A

AQRBBG

PQBRSE
B

PQBRSE

ASGRBE
o

ASGRBE

QRPSSE
D

QRPSSE

Correct Ans : A
Subject : Mental Ability

Q.No: 75 In the following questions, two statements are given followed by two conclusions (I) and (II). You have to consider the statements to be true even if they seem to be at varian
2430256 e to decide which of the given conclusions, if any, follow from the given statements. Indicate your answer.

Statements: Private organisations in India have welcomed the amendment of the Industrial Employment Rules 1956 to sexual harassment at the work place.
Conclusions:
1. Sexual harassment of private at work place is more prevalent in world as compared to other developed countries.

II. Many organizations in India will be stopping recruiting women to avoid such a big problems.

Froforfaa ust &, < Sy & P 1, 11 37 SRR S=d 3 MUt SHI HYAI TR TR S 1, 4 € F 3R R I1d aall § welid 89 @1 sime! B R e sy & 3l freed g At St 7w

FY: URA H el W61 A FriR@ R AR IaisT ¥ R sieifie IR Fam 1956 § w9 1 @0 5 3
Frepd:

1. o= fas e Al @1 gan o rdwa | Feh &1 a9 Sadtsd giar § ofte vafe 31

I1. 3o 9t TS @ 999 & U yRa & &8 W1e Agenel & ol B §e $x 1

Only conclusion I follows

A
e ey 1 iR Bl §
Only conclusion II follows
B
Faq Py 11 SRR ST 8
Either I or II follows
c
T dl 191 1T S8R0 Rl §
Neither I nor II follows
D

A I SR 1T SR HRal §
Correct Ans : D
Subject : Mental Ability

Q.No: 76 In a certain code language, ‘All The Best’ is written as ‘ka Na Sa’. ‘Good Better Best’ is written as ‘La Na Ma’. ‘All Is Good' is written as ‘Sa Ma Ja’ How will ‘Is’ be writte
2434433

T fAf¥d G W #, “All The Best’ @ ‘ka Na Sa’ & =0 # fora1 9I1q1 §1 *Good Better Best’ & 'La Na Ma’ & &4 ¥ firaT &I @1 “All Is Good’ 1 ‘Sa Ma Ja’ & &4 ¥ forar o g1 6
A Ja



Ja

Ma
B

Ma

Sa
C

Sa

La
D

La

Correct Ans : A

Subject : Mental Ability

Q.No: 77 In question below are three statements followed by two conclusions numbered I and II. You have to take the given statements to be true even if they seem to be at variance fi
2435469 \yhich of the given conclusions logically follows from the given statements.

Statements:

1. No apples are oranges.

II. All oranges are bananas.
III. All bananas are grapes.
Conclusions:

I. Some apples are bananas.

II. Some grapes are oranges.

A fag g iy iR Fu Ry e § e are < e 1 9iR 11 T 1 )1 et T T Sl B S HE €, o) @ @ 9 qudt € e el 2§ O R qa Y 5 o W e fig o &t
P

1. B 9 a1 T8l 3|

11 T TR A B

111 it 5 &R B

forep:

I $ 99 &9 §1

11, $O AR TR &

Only conclusion I follows.

Padt Frepd 1 SFER Far 8

Only conclusion II follows.

o Py 11 SRR B B

Both conclusions I and II follows.

2Rl 1Y 1 3R 11 SR 14 &l

Either conclusion I or II follows.

a1t s 1 a7 11 SigER Rt 31
Correct Ans : B
Subject : Mental Ability

Q.No: 78 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even if it appears to be at variance with commonly known
2435529 conclusions logically follow(S) from the statements.

Statements:I. Some Rose are Lotus.
II. Some Lotus are Lily.

III. Some Lily are Jasmine.
Conclusions:I. Some Rose are Lily.

II. Some Lotus are Jasmine.

3w Y oAl SR el a1 eFgd® uieul ¥ WA gY 6 Syl 7 € g IHeR I B, Wal 81 7e W T aadt | e €1, 9 9 iR Rw e frseel # o 1 Sl @ @i w4 F o
P

1. $% TdE $7d 31

11. $© HHA P 81



111 3 FRA Tl B
e

L. % o a1
I1. $& HHA 90 g

Neither conclusion I nor II follows.

T s 1 30”1 & 11 SRR e B

Only conclusion I follows.

aa ey 1 SRy S B

Only conclusion II follows.

Faa s 1T e ST 81

Either conclusion I or II follows.

a1 &t s 1 a7 11 SrgERYr v B
Correct Ans : A

Subject : Mental Ability

Q.No: 79 How many smaller pieces are obtained by making four parallel cuts on a cube?

2438389
U 1 | IR YHATR $ TR Q e D1 Ts Wil g 82
4
A
4
5
B
5
6
o
6
3
D
3

Correct Ans : B
Subject : Mental Ability

24'1‘258502 In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statements:
I=H>C=2N<E=S
Conclusions:
I.I>C
I.C=2S
AFATIIT 9T &, FYUAT & dIg foromd feu 1w §)
TEU 3T =T & HTUR R TAshY T Heddet B A I Sl & &9 A 39gad fahed H T4 B
FUA:
I=H>C=2N<E=S
forsad:
I.LI>C
II.C>2S
Neither conclusion I nor conclusion II is true
A
T e 1 AR T el 11w
Either conclusion I or II is true
B

iR o B B R

Cc Only conclusion II is true



Had My II 9 §

Only conclusion I is true

Paa ¥ 199 8

Correct Ans : D

Subject : Mental Ability

(22;1”3‘;58713 In the following question, the statements are followed by conclusions. Study the conclusions based on the
given statements and select the appropriate option as your answer.
Statements:
H>I=J>K<L
Conclusions:
I. K<H
I.L>1I

TFATIad e &, FUT & arg fovsed G v §)

U 3T Fef=T & HTUR R TAHY T HeaTeT i A 379 3 & § F 59Ga fdaed &l 99 A
Fue:

H>I=]1>K<L

forsd:

I. K<H

ILL>I

Only Conclusion I follows

PoaFrfIga?

Only Conclusion II follows

Fa ey 11 9 §

Either Conclusion I or II follows

gafefiTnnTad

Neither Conclusion I nor II follows

T RTA I T
Correct Ans : A
Subject : Mental Ability

%II\:I’:EG?Z In the following question, the statements are followed by conclusions. Study the conclusions based on the given
statements and select the appropriate option as your answer.
Statement:
LEM<SN>02P
Conclusions:
I.LOLM
ILPLEN

Al 93 , FU= & arg fvad G 7T §)

3T 3T ST & HTUR T Ty @7 egdet il AT 379+ Sl & &9 & 39gad fahed & a8+ H
FU

LEM<N>O0z2P

forsard:

LO<M

ILPSN

Only conclusion I follows

A

Faa ey 199§

Only conclusion II follows
B

e Y 11 9 §

Either conclusion I or II follows
C

1 e 1 AT 11 S §

D Neither conclusion I nor II follows



FAfFf I iRTT I TTR

Correct Ans : D
Subject : Mental Ability

Q.No: 83 In the question given below, two statements are given followed by two conclusions I and II. You have to consider the statements to be true even they seem to be at variance f
2439088 haye to decide which of the given conclusions, if any follow from the given statements.

Statements:

All leaders are trainers.
No trainer is a follower.
Conclusions:

I. No leader is a follower.

II. Some trainers are leaders.

1 few g v & ) o U I i sy 1 adn 11 RU TS | e RY T Sy @) I 7T R, W € 9 aded el § e el 810 8 ot Sl F SR WS SO SR I E |
A

Tt ¥ uiiers g

I e TRl T 31

frsp:

1. B el orgard 7 §1

11. 3% UiIers Jar €

Only conclusion II follows

e s IT e ST &

Neither conclusion I nor II follows

T frsed 1 R T I SigeRur wRar §

Both conclusion I and II follow

Bl ey 1 ofR ey 11 SgERY B €

Only conclusion I follow

Faa ey 1 3R Rar
Correct Ans : C
Subject : Mental Ability

Q.No: 84 Which one of the given responses would be a meaningful order of the following words?
2442684

1. Major

2. Captain

3. Colonel

4, Brigadier

5. Lt. General

Frafafed faed & § oH- A 91 T gt wsk! & w1de »u @1 i 82
1. AR

2. FWH

3. & fa

4, fanfem

5. e SR

5,4,3.1,2

54,3.1,2
51,4,2,3

514,23
C 4,5,1,3,2



4,5,1,3,2
3,4,2,51

3,425,1
Correct Ans : A
Subject : Mental Ability

Q.No: 85 Arrange the following words as per their order in the English dictionary.
2442721

1. Maternity

2. Matriarchy

3. Matchbox

4. Matricide

Frafrad 2edl # Yeadiw # fou MY & Srgur fafaul
1. Maternity

2. Matriarchy

3. Matchbox

4. Matricide
3,1,2,4

3,1,2,4
4,3,1,2

4,3,1,2
3,4,1,2

3,4,1,2
1,3,4,2

1,3,4,2
Correct Ans : A
Subject : Mental Ability

Q.No: 86 Shyama can do a piece of work in 420 days. How much work can he do in 21 days?
2423688

TTHI U BT & 420 AT H @R Far 81 98 21 A1 B faa $1 w5 wdar 82
1

17

gl-

nilw

5
Correct Ans : C

Subject : General Aptitude

Q.No: 87 Which of the following is divisible by 19?
2427637



Frofafea & 9 o 19 § s §2

732158
A

732158

480713
B

480713

125808
C

125808

381957
D

381957

Correct Ans : D

Subject : General Aptitude

Q.No: 88 Present age of Rahul is 5 years less than Ritu’s present age. If 3 years ago Ritu’s age was X, which of the following represents Rahul’s present age?

2431233 e 31 aodH g g 31 300 oG § 5 9 31 81 Afe 3 9 gf Rg 3 omg x o, @ Fg &  Tga &1 adAE oy o W §2

x+ 3
A x+3
x-2
B xX-2
x-3+8
¢ x-3+8
D xX+3+8
x+3+8

Correct Ans : B

Subject : General Aptitude

Q.No: 89 In a polygon five interior angles are 140 degree each and rest of the interior angles are 160 degree each, then find the total no. of sides of the polygon.
2431351

TP TgYS 3 5 MaR® B0 TS 140 370 & § qur 3w wft siiaRks oo vds 160 7t & § @ agye & yomsil 39 Tem qarsii

8
A
8
12
B
12
13
C
13
17
D
17

Correct Ans : C

Subject : General Aptitude

Q.No: 90 It takes eight hours for a 600 km journey, if 120 km is done by train and the rest by car. It takes 20 minutes more, if 200 km is done by train and the rest by car. The ratio of
2435993 5 js-

600 freit, wrvelt o & @ Ay 120 ffl, 9 Ten 27 A 3 S SR [ WEn HR D, O gE 8 wue F gl it § ok o adt wEn 89
200 foHl. SiR A I BR § T B M A 20 P FT IET AfRE T 1 ST IR IR B G HT U TAZL?

3:5
A

3:5

3:4
B

3:4

4:3
C

4:3



4:5
Correct Ans : B
Subject : General Aptitude

Q.No: 91 A train crosses a man sitting in another train going in the opposite direction in 8 seconds. If the train travels in the same direction, then it requires 25 seconds to do so. If the
2436029 ynd the other train in which a man is sitting, is 160 metre in length, then find the speed of first train.

TF YS!, T Yamel 7 348 afd @ fawda fawn # 9o gu 8 9evs # ur o Al 3| afk Yerme ues faxn # 9@, o XS Bt 25 dvs @1 wHy nftl afe veedt Y 3t e 200 Hiew o
8, & s 160 Hiex B, 1 ugeh Yermrel 9 =t 9 PR

61.2 km/h

A
61.2 . s4er
59.4 km/h

B
59.4 f&. /4er
45 km/h

C
45 . fder
48 km/h

D
48 fadh. sder

Correct Ans : B
Subject : General Aptitude

Q.No: 92 A rabbit complete the 5 jump in as much time as a dog complete 3 jump. Rabbit cover 2m in 1 jump and dog cover 4m in 1 jump. If initial gap of rabbit and dog is 10 m. How
2436041 (5ich the rabbit ?

T TR R 7 § 5 S G €, U P 399 8 T B 3 TR I ) TR 1 T H 2 W, R I 1 Taiw F 4 W F gl 77 wRar B 9 o1 9 W F 9 9 uRie g 10
fbarft wai @ ol 2

39.

5 jump

2 -

3

20 Jump

20 BT

15 Jump

15 Bam
16 Jump

16 B9
Correct Ans : C
Subject : General Aptitude

Q.No: 93 A can do a work in 12 days while B can do it in 15 days. They undertake to complete it together for Rs. 450. What will be the share of A in this amount of money?
2436096

ATE FE B 12 o H g IR Tl § 96fd B Y 15 o H O IR G@d1 31 3 I @ WY fAaa 450 ¥08 H 9 3 TR F 9 81 59 RN F A P e e gime

Rs. 200
A

200 TR

Rs. 240
B

240 T

Rs. 250
c

250 ¥

Rs. 300
D

300 TW

Correct Ans : C



Subject : General Aptitude

Q.No: 94 The HCF and LCM of two numbers is 6 and 5040 respectively. If one of the numbers is 210, then the other number is:
2436155

< H@medf ST HCF 3R LCM X1 6 3R 5040 1 i 3777 ¥ Ue T8 210 B o Gl T 1 giit?

630
A
630
144
B
144
256
c
256
30
D
30

Correct Ans : B

Subject : General Aptitude

Q.No: 95 The product of two numbers is 45360; if the HCF of the numbers is 36, then their LCM is:

2436159

Gl I BT IAIE 45360 ©; T TBTSH F1HCF 36 &, o ITHT LCM §:

1260
A

1260

252
B

252

630
c

630

126
D

126

Correct Ans : A

Subject : General Aptitude

Q.No: 96 The LCM of two numbers is 12 times of HCF. The sum of HCF and LCM is 403. If both numbers are smaller than LCM, find both numbers.
2436980

G HeHt $1 9.9.9. I9$ H.9.9. F 12 T § | Toei & T.9.9. ofR 7.9.9. BT I 403 §1 Al i GBI I A.9.9. § B g, A < 98¢ 31d pifom|

67, 91
A
67,91
93,124
B
93, 124
93, 125
c
93, 125
77,120
D
77,120

Correct Ans : B

Subject : General Aptitude

Q.No: 97 Find the largest 4 digit number divisible by 45,50 and 30.
2437902



45, 50 3R 30 gRI [IYTISTT TaY J8T 4 3fh! BT AT J1d BISTI

9988
A

9988

9900
B

9900

9920
C

9920

9950
D

9950

Correct Ans : B

Subject : General Aptitude

Q.No: 98 P & Q can do a work in 10 & 15 days respectively. First day P & second day Q work, then the whole work complete in alternate days. In how many days the work will complete
2444457

P Q 5l M & 10 7 15 R § [ IR T&d 1 U8A fad P 3 G e Q SR ot +ft 3ot voR 3 -9 § Fm aRa €1 O fba ot & s g €1 S

12 days
A

127

15 days
B

15 A

8 days
C

g faT

7.5 days
D

7.5

Correct Ans : A

Subject : General Aptitude

S;‘I\‘l‘(:5%99 Aniland Vanil start together at the same time in the same direction. If Vanil walks atg of Anil's
speed, he reaches destination by 1 hour 15 minutes late from Anil. Find the time taken by Vanil.
AT TAT A T 914 GF 5T FHT TTF §T (24T F1 NTO0T 639 gl I7e Ffae,
aﬁaﬁwﬁﬁ%vﬁr%aﬁﬁ*qaﬁa%lﬁls e 3T q wgwar g AR I
[ERINICECIEIS L PRic i
6 hours 45 minutes
A
6 11 45 fiFe
7 hours 15 minutes
B
7 der 15 e
7 hours 30 minutes
c
7 1 30 e
8 hours 15 minutes
D

8 et 15 fiFe

Correct Ans : C

Subject : General Aptitude

Q.No: 100 DIRECTIONS: In each of the following number series a wrong number is given. Find the wrong number.
2444668
7,8, 20, 43, 107, 232, 448



Fw: vl Fafif@d fae § v e S @ T 1 Tad 9 31 H

7,8, 20,43, 107, 232, 448

a3
A

a3

232
B

232

107
c

107

20
D

20

Correct Ans : D
Subject : General Aptitude




